9

o
ral
Bl
X
i
of
>,
=
an
i
=)
>,
ku
My
flo
i)
o,
i
filo
o,
o
1o,
4

Ok @ @ @ v 6 57

(3, ), (51, ) © 274




2.

A, B, C. D, B EH % ZoI4 BE T & Bt A90] 450
® 6 7M1 @ 8 71 B)10 744
® 12 714 ® 14 71

2X4_ g (7))




thg 197} 2ol BA = BC ¢l o] 5WAIZIE ABC oA /B = 72°

Ao, zx & 27|17

A

72 o

N

O 122° @ 123° @ 124° @ 125°

os)

(@)126°

1
/BCA = 5 (180° - 72°) = 54°
o Lx =180° — 54° = 126°




8 g3 e FIPAHE ABCD o)A x
of & Fototet

L
o

>
> =g 60°

AB//CD °|2& /BAC = /ACD, x = 60°°]t},




StA P

o3 "3} Zo] FYPAFHEY ABCD 9] YFof gt A

ot}
APAB 9] 5l°]7} 30cm?, APCD 9] Wol7F 20cm? ¢ o, ABCD 9]
HolE Fotolet,

mlm

A D
P
B C
> = cm®
> &= 100cm?
B ~
APAB + APDC = %DABCD ojlB g

1
30 + 20 = 3 x OABCD
. OABCD = 100cm?




B 7}

>
> =g 13 744

B

(1) A = D: 37H]
(2)A = C = D:2x2=4(7HA)
(3)A = B = C = D:3x1x2=6 (7IA)

whebd] Pohe 490 453444 6= 13 (7)) o]k,




@ 60 7H4| ® 120 714

@ 30 74

® 300 7}A]

@)210 714

HFH 120 x 2 = 240 (7}A]) o]t

o] A&




8. 2 1™oA M1+ AABC 9] Aot}

A

130°
B C

/BIC = 130° ¥ wj, /BAC ] 27| szt

v
1
o

> ®eh: 80°

(BIC = 90° + %ZBAC
130° = 90° + %ABAC

%ABAC = 40°
~ /BAC = 80°




9. o2 I3oA H1+& aABC 9] y4oltt AD 9] Zo|& Fsfojzt.
(T, 9= At

A 171 A+ o] YAlo|ER2 AD = AF,BE = BD,CE = CF
o|ct. - -
CE=5=CFOolBE2 AF=7-5=2=AD o|t}.

- AD = 2(cm)




10. o3 A AABCE AB = ACO]IL /A = 46° %] o] 5HAZ

oltt, A O 9 17} 242t o)1 WAl o), ,OBI ] 27]& Fat

[ 2
> ®eh: 105°

AABC 9] £j4lo] 1 0 o,
%zBOC = /A, /A = 46° 0|22 /ABC = 67°, /BOC = 92°

ot
AOBC = o|5HAZIg o] B2 /OBC = 44° o]t}
T, /IBC = %AABC = % X 67° = 33.5° o[},

wHebA LOBI = /OBC - /IBC = 44° — 33.5° = 10.5° ©| T},




11. ok 397 22 ABCD7F BAME o] HES ke x, y o gHe?
_15+2y~
3T 49 )
y %x+y

\ /

B~-~-17---C

DO x=4y=1 @ x=3y=1 ® x=4y=1
@x:5’y:1 @x:5’y:2

B ~
1542y =17, 2y =2

Ly=1

3x-4=2x+1

LX=5




12. g 2¥oA oABCD = HALZGo|th 4

EC = FD, oPECF = 12cm? € ufj, AAPD
o] Ylo| & “totofet,

m

'ﬁ”U

L
o
=
[

vV V¥
0
L
—
b
Q
£
()

Q

ADEC = AAFD (SAS gH5)olB 2
ADPF = 3%
wtebA] AAPD = OPECF = 12 (cm?)




13. o8 283 Zo] gPArEd ABCD oA u] zte] o] 5EBHSe o
ZAslo] pEFGHE ﬂ%i’i% o, oEFHG = oJH AR+ 217}

oL @ Artez G ax7

@ A ® "ER

B \
(ABC + /BAD = 180°°]|2& /GBA + /FAB = 90°°]1
AABE A /AEB = 180° - 90° = 90° °]t}.

k72| 2 /EGH = (EFH = /CHD = 90°°|2 & opEFGH =
Atz o]t




14. thg 793 2L BYAEY ABCD A 21 2 1, o
ol LA vheA ABF 2L

>
)

@ /0OAD = /ODA — vI=1

@ /OAD = /OAB — A9
@ZOBC = /0OCB = 45° » AAMZS
@ OC = 0D - BAHZt e

® a0BC = A0CD — HAHZ}S

~&B

@ £OAD = ODA°|¥ OA = OD — AAH3
@/0AD = /OAB°|H AB = AD -»151
® /OBC = /0OCB = 45°°]" OB = OC,
(BOC = 90° - A S
@ OC = OD - HAZg
® AOBC = AOCD°|H
/COB = /COD = 90°,
CD=CB - 1R




